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SECTION – A (10 X 1 = 10 Marks) 
Answer ALL Questions. 

CO1 K1 1. 
The equation 0

1


x
x is __________. 

a) not a reciprocal equation 
b) a standard reciprocal equation  

c) a reciprocal equation   first type and odd degree                                                 
d) a reciprocal equation   Second  type and even degree                                                 

CO1 K2 2. The reciprocal equation  02153737152 2345  xxxxx  has _____ 

a)-1 one root      b) 1 as one root     c) 1 and -1 as roots     d) i as one root  

CO2 K1 3. 
__________

1
1lim 












n

n n
. 

a) e                        b) 0                       c) 1/n                         d) e 2  

CO2 K2 4. log(1+x)=______________. 

a) .....
32

32


xx

x        b) .....
32

32


xx

x      

c) .....
32

1
32


xx

      d) .....
32

1
32


xx

 

CO3 K1 5. if A,B,C are matrices of the same order A+(B+C)= ________. 

a) (A+B)+C                b) A+B+C                 

c) AB+C                    d) A+BC 

CO3 K2 6. Matrix addition is __________. 
a) commutative        b) scalar                  

c) similar                   d) diagonal 

CO4 K1 7. Sin(2θ) = _______________. 
a) 2sin(θ)cos(θ)       b) sin(θ)cos(θ)        

c) sin(2θ)cos(θ)       d) 2sin(2θ)cos(2θ) 

CO4 K2 8. 

 
 

1 + tan²(θ) =  

a) sec (θ)                  b) sec²(θ)                c) cosec (θ)                d) tan (2θ) 
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SECTION – C (5 X 8 = 40 Marks) 

Answer ALL Questions choosing either in (a) or (b) 

CO1 K3 16a. Solve 0643436 2345  xxxxx . 

(OR) 

Solve 035724812 234  xxxx  by removing the second term. 
CO1 K3 16b. 

CO2 K4 17a. 
 
 

 

Sum of the series 








 ......
!4

3331

!3

331

!2

31
1

322

 

(OR) 

CO5 K1 9. xsinh  can be extended as an infinite series _____. 

a) ..........
!4!2

1
42


xx

                b) ..........
!5!3

53


xx

x  

c) ..........
!5!3

53


xx

x                 d) ..........
53

53


xx

x  

CO5 K2 10. __________)cos( ix . 

a) xi cosh                     b) xcosh                      c) - xi cosh                d) - xcosh  
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SECTION – B (5 X 5 = 25 Marks) 
Answer ALL Questions choosing either (a) or (b) 

CO1 K3 11a. 
 
 

If 2 and 3 are the roots of the equations 06355656356 2456  xxxxx   

find the remaining roots. 
(OR) 

Diminish the roots  of the equation 10023  xxx   by 4. CO1 K3 11b. 

CO2 K3 12a. 
 

 

From the equation with rational coefficients one  of whose root is 32  .  

(OR) 

Find the coefficient of 32x  in the expansion of 

15

3

4 1










x
x . CO2 K3 12b. 

CO3 K4 13a. 
 

 
 
 

 

Find the eigen value of the matrix 

















500

620

413

 

(OR) 

Calculate 4A  when A= 








42

31
 CO3 K4 13b. 

CO4 K4 14a. 
 

 

Find the approximately the value of   radians if 
864

863sin





 

(OR) 

Prove that . 102cos154cos66coscos2 65    CO4 K4 14b. 

CO5 K5 15a. 

 
 

 

 

Show that  1logsinh 21  xxx e . 

(OR) 

Prove that xx
xh

xh
2sinh2cosh

tan1

tan1





. CO5 K5 15b. 
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CO2 K4 17b. 
Find the coefficient of nx  in the expansion of 

xe

xx 2321 
 

CO3 K4 18a. 

 
 
 

 
 

Diagonalizable





















131

111

322

 the matrix.  

(OR) 

Find the characteristic equation of the matrix 

















 327

112

022

 CO3 K4 18b. 

CO4 K5 19a. 
 

 
 
 

Expand 7sin  in power of cos  and sin  . Hence prove that 




 642 sin64sin112sin567
sin

7sin
  

(OR) 

Show that 24
sin

3sinsin3
lim

0






 xx

xx

x
. CO4 K5 19b. 

CO5 K5 20a. 
 

 
 

 
 
 

If    sincostan ii    prove that 

1.  
4

1

2

1
 n  

2. 









24
tanlog

2

1 
  

(OR) 

Sum of the series termsn.....
3sin2sin

1

2sinsin

1



 

cosec  cosec2 + cosec2  cosec3 +……… n terms. 

CO5 K5 20b. 
 

 
 

 


